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Unit Four

Changing English

1- Choose the correct answer from a, b, cor d:

1- The ships had to remain in their ............ because of the bad weather.

a- routes b- roads C- ports d- parts

2- Twilltryto................. my mother to let me go to the cinema tomorrow.

a-allow b- persuade c-do d- let

3- Some.......believe that using messaging language could harm English.

a- linguists b- sociologists c- biologists d- geologists
4-Ahmed seems ill. His face is.................

a- powerful b- fit c- pale d- correct
5- A lot of people don't buy newspapers any more since they read them..........

a- outline b- inline c- offline d- online

6- Dolphins use sound to ................ with each other.

a- phone b- call c- communicate d- link

7- My friend Adam always ---------==---------- about his favourite player and team.

a- argues b- says c- wants d- tells

8- This job -------------- high qualifications and proficiency at languages.

a- acquires b- requires C- enquires d- asks
9-Mazen has an infectious disease and the symptoms ------------------- on his face .

a- appear b- disappear Cc- vanish d- hide
10-We can reply in a minute. The antonym of "reply™is ............

a- accept b- request c- offer d- answer
11- My uncle knows many languages. He is a-------------------

a- scientist b- linguist c- sociologist d- archaeologist
12- At last the convict.......... that he stole the jewels.

a- cancelled b- hid c- disbelieved d- admitted
13- One............ of smoking is the cause of lung diseases.

a- advantage b- merit c- disadvantage d- form
14-The -------=--=----- of the heart is to pump blood around our bodies.

a- career b- facture c- vocation d- function

2- Answer the following questions:

1- Why do you think Edmund cut his own arm?

2- Why do you think Gloucester says, “It is a stab in the back”?
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